
Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
1P22 Spaghetti 8” length Wire & Cable
7S72 Washer #6 Lock washer Hardware
A10 Resistor 47,000 - 51,000 Ω Resistors
A11 Resistor 270,000 Ω Resistors
A12 Resistor 220 Ω 2 watt Resistors
A14 Socket, Phono RCA type phono socket Sockets -Terminal Strips
A16 Choke 6H at 80 ma Coils-Choke-Transformer
A17 Output Transformer 6L6 to 3.2 Ω / 8 Ω Coils-Choke-Transformer
A18 Vacuum Tube 1619 beam power pentode Tubes - Lamps
A19 Plug, Phono RCA type phono plug Sockets -Terminal Strips
A21 Shielded wire - Wire & Cable
A27 Resistor 25 Ω 25 watt Resistors
A28 Capacitor 0.5 µf 250V Condensers
A44 Capacitor, Electrolytic Can 30 µf, 10 µf 400V Condensers
A45 Transformer Power A-5, PS-1 5V, 6.3V 4.5A, ~660 Vct Coils-Choke-Transformer
A48 Vacuum Tube 6J5/6J5GT Tubes - Lamps
AR10 Capacitor, Tuning Dual Section Condensers
AR12 Socket, Speaker Speaker Socket Sockets -Terminal Strips
AR13 Plug, Speaker Speaker Plug Sockets -Terminal Strips
AR16 Dial Dial Plate Assembly Dial Parts
AR18 Potentiometer 1 Meg Ω with SPST Switch Controls - Switches
AR19 Line cord two-wire Miscellaneous
AR21 Dial Drive shaft Dial Parts
AR23 Dial “E” Washers Dial Parts
AR24 Dial Drive shaft bracket Dial Parts
AR25 Resistor 330 Ω Resistors
AR26 Capacitor 150 µµf Condensers
AR27 Capacitor 0.005 µf Paper Condensers
AR28 Capacitor 0.05 µf Condensers
AR29 Capacitor, Electrolytic 10, 15, 40 µf 450 volts Condensers
AR30 Capacitor, Trimmer 3-30 µµf compression type Condensers
AR31 Vacuum Tube 12SH7 or 12SH7GT Tubes - Lamps
AR32 Socket, tube Octal tube socket Sockets -Terminal Strips
AR33 Dial Dial Pointer Dial Parts
AR34 Transformer Audio Output - pair 12A6 to v.c. Coils-Choke-Transformer
AR35 Spacer Spacer 1/8” Hardware
AR36 Spacer Spacer 5/8” Hardware
AR37 Switch, Rotary 4 pole, 3 position Band switch Controls - Switches
AR38 Capacitor 1,600 µµf Mica Condensers
AR41 Potentiometer 500 KΩ with SPDT Switch Controls - Switches
AR42 Dial Drum Assembly Dial Parts
AR43 Capacitor, Padder 300-450 µµf compression type Condensers
AR44 Transformer Transformer, Output Coils-Choke-Transformer
AR45 Spacer Spacer 3/16” Hardware
AR46 Chassis AR-1 Sheet Metal Parts
AR47 Bracket Coil Mounting Sheet Metal Parts
BR13 Coil, RF Antenna Primary (BC) Coils-Choke-Transformer



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
BR14 Coil, RF Antenna Secondary (BC) Coils-Choke-Transformer
BR15 Coil, RF Oscillator (BC) Coils-Choke-Transformer
BR16 Transformer, IF Input 455 KC IF Coils-Choke-Transformer
BR17 Transformer, IF Output 455 KC IF Coils-Choke-Transformer
BR19 Bracket Bracket, Angle Sheet Metal Parts
BR23 Potentiometer 500 KΩ Controls - Switches
BR24 Transformer Transformer, Power 700 vct 5v, 12.6v 117V pri Coils-Choke-Transformer
BR26 Resistor 2,700 Ω 2W Resistors
BR35 Panel BR-1, AR-1 Sheet Metal Parts
BR36 Lockwashers #8 lock washer Hardware
BR43 Resistor 25K-30K Ω 2W Resistors
BV23 Resistor 33,000 Ω Resistors
C2 Documentation Manual C-2 Documentation
C10 Resistor 10 Meg Ω Resistors
C11 Resistor 100,000 Ω 1/2W 5% Resistors
C12 Resistor 1,000 Ω 1W 5% Resistors
C13 Resistor 30,000 Ω 1 Watt Resistors
C14 Capacitor 2 µf bathtub Condensers
C15 Capacitor .02 MFD Matched pair of 0.01 Condensers
C16 Capacitor 200 MMF Mica Precision Condensers
C17 Capacitor 0.5 MFD Paper Condensers
C18 Potentiometer 10,000 Ω W.W. Controls - Switches
C19 Capacitor 800 Ω W.W. w/SPST Sw. Condensers
C20 Switch, Rotary 2 pole 11 position Controls - Switches
C20A Switch, Rotary 2 pole 11 position Controls - Switches
C21 Vacuum Tube 1629 Eye tube Tubes - Lamps
C22 Wire, test lead Length of black test lead Wire & Cable
C23 Wire, test lead Length of red test lead Wire & Cable
C24 Grommet, Rubber 7/16 rubber grommet Miscellaneous
C25 Socket, lamp Bayonet Pilot Light Ass’y Indicators
C25A Socket, lamp Bayonet Pilot Light Ass’y Indicators
C26 Wire, Hookup Length of hookup wire Wire & Cable
C27 Transformer Power Transformer Coils-Choke-Transformer
C28 Panel C-1 Sheet Metal Parts
C28A Panel C-2 Sheet Metal Parts
C29 Chassis C-1, C-2 Sheet Metal Parts
C30 Bracket End bracket C-1, C-2 Sheet Metal Parts
C31 Set of Instructions C-1 Documentation
C32 Parts List C-1 Documentation
C33 Schematic C-1 Documentation
C34 Photo Print C-1 Documentation
C35 Spaghetti Length of Spaghetti Wire & Cable
C38 Knob w/Pointer Tuning knob Knobs - Terminals
C41 Resistor 68,000-75,000 Ω 1 Watt Resistors
C42 Resistor 12000 Ω 1 Watt Resistors
C44 Capacitor 2 MFD Precision Condensers
FM10 Capacitor 3 µµf ceramic Condensers



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
FM11 Capacitor 1000 µµf mica Condensers
FM12 Capacitor, Tuning Ass’y variable capacitor & coils ass’y Assembly
FM13 Switch, Rotary SPST Controls - Switches
FM14 Vacuum Tube 14F8 Vacuum Tube
FM15 Socket, tube Loctal 8-pin Sockets -Terminal Strips
FM16 Knob Brown Acorn type Knobs - Terminals
FM17 Binding Post Dual Binding Post Sockets -Terminal Strips
FM18 Set Screw #8-32 x 3/16 set screw Hardware
FM19 Nut Drive Shaft Nut Hardware
FM20 Dial Dial Cord Dial Parts
FM21 Dial Dial Cord Spring Dial Parts
FM22 Dial Dial Pointer Dial Parts
FM23 Shaft Drive Shaft Hardware
FM24 Dial Pulley Dial Parts
FM25 Wire, Hookup 2 ft. Wire & Cable
FM26 Spaghetti 4 inches Wire & Cable
FM27 Transformer, IF Pre tuned Coils-Choke-Transformer
FM28 Choke, RF FM-1 Coils-Choke-Transformer
FM29 Chassis FM-1 Sheet Metal Parts
FM30 Dial Plate Assembly FM-1 Dial Parts
FM31 Bracket, dial mounting FM-1 Hardware
FM32 Set of Instructions FM-1 Documentation
FM33 Parts List FM-1 Documentation
FM34 Schematic FM-1 Documentation
FM35 Pictorial FM-1 Documentation
FM36 Resistor 27,000 Ω Resistors
FM41 Resistor 1500 Ω Resistors
FM44 Photo Print FM-1 Documentation
FM45 Resistor 1000 Ω 1 W Resistors
FM46 Transformer Power B+, 6.3 V windings Coils-Choke-Transformer
FM50 Capacitor, Tuning Ass’y FM-2 Assembly
FR16 Capacitor 0.005µf Condensers
G5 Manual G-5 G-5 Documentation
G10 Resistor 820 Ω Resistors
G11 Resistor 3600 Ω Resistors
G12 Resistor 5600 Ω Resistors
G13 Resistor 30 KΩ Resistors
G14 Resistor 51 KΩ Resistors
G15 Resistor 100 KΩ Resistors
G16 Resistor 330 KΩ Resistors
G17 Resistor 560 KΩ Resistors
G18 Resistor 47,000 Ω 1 Watt Resistors
G19 Resistor 10 KΩ 2W Resistors
G20 Resistor 100 KΩ 1% Resistors
G21 Resistor 1 MΩ 1% Resistors
G22 Resistor 10 MΩ 1% Resistors
G23 Capacitor 0.2 MFD Paper Tubular Condensers



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
G24 Capacitor 47-50 µµF Mica Condensers
G25 Capacitor, Trimmer 50 µµf Condensers
G26 Capacitor, Electrolytic 8 µf 475 V Condensers
G27 Capacitor, Tuning 4 section (240 µµf each) variable Condensers
G28 Capacitor, Electrolytic 10/10/10/10 µf 475V 4- sec. can Condensers
G31 Screw #4-40 3/8” Hardware
G32 spade bolt #6 Hardware
G34 Lamp 110 V 3W Tubes - Lamps
G35 Switch, Slide DPDT Controls - Switches
G36 Switch, Rotary 2 Pole 3 Position Controls - Switches
G38 Knob Indicator Knobs - Terminals
G40 Mounting Wafer Can Condenser Hardware
G41 Choke 3H 60 ma Coils-Choke-Transformer
G42 Vacuum Tube 6SL7 Tubes - Lamps
G43 Vacuum Tube 6K6 Tubes - Lamps
G44 Vacuum Tube 6SN7 Tubes - Lamps
G45 Transformer Power B+, 5 V and 6.3 V windings Coils-Choke-Transformer
G52 Screw #8-32 Hardware
G59 Switch, Slide DPDT Controls - Switches
IB1 Documentation Manual IB-1 Documentation
IB10A Panel IB-1 Sheet Metal Parts
IB10B Panel IB-1B Sheet Metal Parts
IB11 Knob Indicator Knob with pointer Knobs - Terminals
IB12 Knob Knob with plastic pointer Knobs - Terminals
IB13 Cabinet IB-1 Sheet Metal Parts
IB14 Meter 2-1/2” sq. µammeter, center zero Miscellaneous
IB15 Switch, Rotary 2 pole 8 pos. Controls - Switches
IB16 Switch, Rotary 4 pole 5 pos. Controls - Switches
IB17 Switch, Rotary 4 pole 3 pos. Controls - Switches
IB18 Switch, Rotary 2 pole 3 pos. Controls - Switches
IB19 Potentiometer 1,600 Ω W.W. Control IB-1 Controls - Switches
IB19A Potentiometer 1,600 Ω W.W. Control IB-1B Controls - Switches
IB20 Potentiometer 16,000 Ω W.W. Control IB-1 Controls - Switches
IB20A Potentiometer 16,000 Ω W.W. Control IB-1B Controls - Switches
IB21 Potentiometer 165 Ω W.W. Control IB-1 Controls - Switches
IB21A Potentiometer 165 Ω W.W. Control IB-1B Controls - Switches
IB22A Potentiometer 10,000 Ω W.W. Control Controls - Switches
IB23 Microphone hummer 1000 cps. Miscellaneous
IB24 Resistor 1 Ω 1/2W 1/2% precision Resistors
IB25 Resistor 9 Ω 1/2W 1/2% precision Resistors
IB26 Resistor 90 Ω 1/2W 1/2% precision Resistors
IB27 Resistor 100 Ω 1/2W 1/2% precision Resistors
IB28 Resistor 900 Ω 1/2W 1/2% precision Resistors
IB29 Resistor 9,000 Ω 1/2W 1/2% precision Resistors
IB30 Resistor 90,000 Ω 1/2W 1/2% precision Resistors
IB31 Binding Post Insulator Knobs - Terminals
IB32 Binding post Base Knobs - Terminals



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
IB33 Binding post Screw Binding post thumb screw Knobs - Terminals
IB34 Nut #10-32 hex nut Hardware
IB35 Battery 6-volt, Burgess F4BP Hardware
IB36 Washer #10 lock washer Hardware
IB37 Washer, Fiber Flat fiber washer Hardware
IB38 Washer #10 nickel plated washer Hardware
IB39 Bracket Condenser Mounting bracket Sheet Metal Parts
IB39A Bracket Condenser mounting bracket Sheet Metal Parts
IB40 Bracket Hummer mounting bracket Sheet Metal Parts
IB41 Bracket Battery mounting bracket Sheet Metal Parts
IB42 Wire, Hookup Buss Bar wire 18’ Wire & Cable
IB43 Wire, bare #20 bare wire, 18” Wire & Cable
IB44 Wire, Hookup Stranded hookup wire 6’ Wire & Cable
IB45 Capacitor Condenser assembly IB-1 Condensers
IB45A Capacitor Condenser assembly IB-1B Condensers
IB45A Capacitor Variable capacitor Assembly Condensers
IB46 Resistor 100 Ω 1/2W 1% precision Resistors
IB48 Screw, Machine #6/32 x 1” Hardware
K2 Documentation Instruction Manual K-2 Documentation
K10 Resistor 2700 Ω (red violet red) Resistors
K11 Resistor 2 MΩ (red black green) Resistors
K12 Capacitor 0.01 µFD 200 V Condensers
K13 Capacitor Dual 20 µFD 150 V electrolytic Condensers
K14 Capacitor 25 µFD 25 V Condensers
K15 Capacitor 360 µµF Variable Condensers
K16 Screw 6-32 x 3/16 machine screw Condensers
K17 Phone Jack 1/4” type Knobs - Terminals
K18 Grid Clip Sockets -Terminal Strips
K19 Speaker Screen Miscellaneous
K20 Potentiometer 50,000Ω Volume control w/switch Controls - Switches
K21 Plug-in Coil Broadcast band Coils
K22 Plug-in Coil Short Wave band Coils
K23 Vacuum Tube 12A6 or 12A6GT Tubes - Lamps
K24 Vacuum Tube 12C8 Tubes - Lamps
K25 Power transformer P-127 12V @ 1/2 A, 150V @ 10ma Coils-Choke-Transformer
K26 Transformer Audio output (A100) Coils-Choke-Transformer
K27 Line cord Miscellaneous
K28 Wire, hookup 2’ roll Wire & Cable
K29 Front Panel K-1 Receiver Sheet Metal Parts
K29A Front Panel K-2 Receiver Sheet Metal Parts
K30 Chassis K-1, K-2 Sheet Metal Parts
K31 Set of instruction and Parts list Documentation
K32 Instruction sheet Kit builder Documentation
K33 Spaghetti 1 foot length Wire & Cable
K34 Resistor 220,000 Ω Resistors
K35 Documentation Schematic K-1 Documentation
K36 Documentation Pictorial K-1 Documentation



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
K42 Vacuum Tube 1626 or 12J5 Tubes - Lamps
K43 Screw 6-32 x 1/2” flathead screw Hardware
K44 Spacer 5/32” x 5/16” Hardware
K45 Pointer Ass’y tuning knob Knobs - Terminals
K47A Documentation Schematic K-2 Documentation
K48 Documentation Pictorial K-2 Documentation
M28 Banana Jack Insert Knobs - Terminals
MT10 Capacitor 470 µµf mica Condensers
MT12 Nut #4-40 Hardware
O10 Resistor 3.3 Meg Ω Resistors
O11 Resistor 10,000 Ω Resistors
O12 Resistor 100,000 Ω Resistors
O13 Resistor 1200 Ω 1/2 Watt Resistors
O14 Resistor 470 Ω Resistors
O15 Resistor 2000 Ω Resistors
O16 Resistor 470,000 Ω Resistors
O17 Resistor 1 Meg Ω Resistors
O18 Resistor 470,000 Ω Resistors
O19 Resistor 100,000 Ω 2 Watt Resistors
O20 Resistor 150,000 Ω 2 watt Resistors
O21 Capacitor 270 µµf Mica Condensers
O22 Capacitor 0.005 molded paper Condensers
O23 Capacitor 0.003 µf tubular Condensers
O24 Capacitor 0.01 µf Paper Tubular 1000V Condensers
O25 Capacitor 0.02 MFD Paper Tubular Condensers
O26 Fiber shoulder washer 9/64” fiber shoulder washer (#626) Hardware
O27 Fiber washer 9/64” fiber plain washer (#642) Hardware
O28 Washer Nickel 3/8” (#741) Hardware
O29 Washer Nickel 15/32” (#742) Hardware
O30 Screw 10-24 x 3/8” handle screw Hardware
O31 Screw 6-32 x 3/8 machine screw Hardware
O32 Nut 6-32 nut Hardware
O33 Nut Control nut (#737) Hardware
O33A Nut, hex Nickel 15/32”  toggle sw. (#738) Hardware
O33B Nut, knurled Toggle sw. Hardware
O33C Washer Control lock washer (#1220) Hardware
O33D Screw #6-3/8” self tapping Hardware
O34 Feet Rubber feet (#716) Miscellaneous
O35 Grommet, Rubber 3/8” rubber grommet Miscellaneous
O36 Grommet, Rubber 3/4” rubber grommet Miscellaneous
O37 Solder Lug #6 Hardware
O38 Terminal Strip 1-lug (#835) Sockets -Terminal Strips
O39 Bulb, pilot #47 Tubes - Lamps
O40 Nut Pilot light Pilot Light Ass’y
O41 Bushing Pilot light Pilot Light Ass’y
O42 Jewel Pilot light Pilot Light Ass’y
O43 Ring, retainer Octal socket retainer Hardware



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
O44 Retainer Speed nut for jack Hardware
O45 Jack, Phone tip Knobs - Terminals
O46 Switch, Toggle SPST Controls - Switches
O47 Ring, CRT CRT socket retainer Controls - Switches
O48 Binding post Antenna or Input Knobs - Terminals
O49 Capacitor 0.1 MFD Paper Tubular Condensers
O50 Capacitor 8 MFD 475 V Condensers
O51 Knobs Pointer knobs Knobs - Terminals
O52 Socket Pilot light Pilot Light Ass’y
O54 Tube socket Octal socket Sockets -Terminal Strips
O55 Socket, CRT Sockets -Terminal Strips
O56 Potentiometer 1 Meg Ω (BA-33-010-1345) Controls - Switches
O57 Potentiometer 1 MΩ w/SPDT sw. (BA-34-010-018)1 MΩ w/SPDT sw. (BA-34-010-018) Controls - Switches
O58 Potentiometer 100,000 Ω Controls - Switches
O59 Potentiometer 250,000 Ω Controls - Switches
O60 Potentiometer 5 MΩ Controls - Switches
O61 Capacitor 0.5 MFD Bathtub (2-term.) Condensers
O62 Capacitor 0.25 MFD Bathtub Condensers
O63 Fuse holder Dual with fuses Miscellaneous
O63A Fuse Block Miscellaneous
O63B Fuse Miscellaneous
O64 Choke 15 Henry 60 ma (#643) (8998) Coils-Choke-Transformer
O65L Bracket, Panel Sheet Metal Parts
O65R Bracket, Panel Sheet Metal Parts
O66 Vacuum Tube 5Y3GT Tubes - Lamps
O67 Cement Small bottle 35-1-GC Miscellaneous
O68 Vacuum Tube 6SJ7/6SJ7GT Tubes - Lamps
O69 Vacuum Tube Thyratron 884 or 6Q5 Tubes - Lamps
O70 Bracket, CRT CRT Bracket Sheet Metal Parts
O70A Bracket, CRT CRT Bracket Sheet Metal Parts
O71 Capacitor 2 MFD 1000V Condensers
O72 Transformer Power Transformer (S-122) Coils-Choke-Transformer
O73 Capacitor 5-5 MFD Filter capacitor Condensers
O74 Felt Strip 2” wide Miscellaneous
O75 Felt Strip 1/2” wide Miscellaneous
O76 Switch, Rotary 1 pole, 5 position Controls - Switches
O77 Wire, Hookup Roll 28’ Wire & Cable
O77A Wire, Hookup Roll 35’ Wire & Cable
O78 Line cord two-wire Miscellaneous
O79 Handle Hardware
O80 Shield CR Tube shield Sheet Metal Parts
O80A CRT Ring CRT Panel Ring Sheet Metal Parts
O81 Spaghetti Length spaghetti Wire & Cable
O81A Spaghetti 8” Wire & Cable
O82 Grid Screen For O-3, O-5, O-6 Miscellaneous
O83 Documentation Introductory Sheet (F.O) O-3, O-4 Documentation
O83 Documentation Manual O-5, O-6 Documentation



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
O84 Switch, Slide SPST Controls - Switches
O85 Chassis O-3 scope Sheet Metal Parts
O85 Chassis O-4 scope Sheet Metal Parts
O85B Chassis O-5 scope Sheet Metal Parts
O85C Chassis O-6 scope Sheet Metal Parts
O86 Panel O-3 scope Sheet Metal Parts
O86 Panel O-4 scope Sheet Metal Parts
O86B Panel O-5 scope Sheet Metal Parts
O86C Panel O-6 scope Sheet Metal Parts
O87 Cathode Ray Tube 5BP1 (or 5BP4, 5GP1) Tubes - Lamps
O88 Cabinet O-3, O-6 scope Sheet Metal Parts
O89 Documentation Parts List O-3 Documentation
O89A Documentation Parts List O-4 Documentation
O89B Documentation Parts List O-5 Documentation
O90 Documentation Chassis - Panel Photo O-3 scope Documentation
O91 Documentation Schematic O-3 scope Documentation
O91A Documentation Schematic O-4 scope Documentation
O91B Documentation Schematic O-5 scope Documentation
O92 Documentation Pictorial O-3 scope Documentation
O92A Documentation Pictorial O-4 scope Documentation
O94 Switch, Slide SPST Controls - Switches
O95 Switch, Slide SPDT Controls - Switches
O96 Capacitor, Electrolytic 20, 20, 20 µf 450 V Condensers
O96 Capacitor 20-20-20 MFD Electrolytic Condensers
O97 Capacitor 0.25 µf Condensers
O100 Documentation Panel--Photo Print O-4 Documentation
O101 Lockwasher Control lock washer Hardware
O102 Screw #6-3/8 sheet metal screw Hardware
O106A Bracket Tube Shield Bracket Sheet Metal Parts
O107 Nut Condenser mounting nut Hardware
O109 Solder lug #10 solder lug Hardware
O111 Switch Rotary 4 pole, 5 position switch Controls - Switches
O112 Potentiometer - Dual 250,000 / 1 Meg Ω Dual Control Controls - Switches
O114 Terminal Strip 4-lug Terminal Strip Sockets -Terminal Strips
O115 Capacitor 0.5 MFD Paper Tubular Condensers
O116 Resistor 4700 Ω 2 Watt Resistors
O117 Capacitor 100 MMF Mica or Ceramic Condensers
O118 Capacitor 6800 MMF Ceramic Condensers
O119 Capacitor 1 MFD Paper 1000 V Metal Can Condensers
O125 Transformer, Power For O-6 Coils-Choke-Transformer
O126 Shield CRT Tube Shield Sheet Metal Parts
O127 Capacitor Electrolytic 20, 20, 10, 10 µf 450 V Condensers
O128 Mtg Clamp CRT Mounting  Clamp Sheet Metal Parts
O129 Potentiometer 5,000 Ω Controls - Switches
O130 Potentiometer 50,000 Ω Controls - Switches
O131 Potentiometer 200,000 Ω center tapped Controls - Switches
O132 Potentiometer 500,000 Ω Controls - Switches



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
O133 Bracket Trimmer Mounting Bracket Sheet Metal Parts
O134 Mounting Strap Shield Mounting Strap Sheet Metal Parts
O135 Resistor 680,000 Ω Resistors
O136 Resistor 1 Meg Ω 2 Watt Resistors
O137 Capacitor 82 µµf Condensers
O138 Capacitor 500 µµf Condensers
O139 Capacitor 0.25 or 0.5 µf 1500 V Condensers
O140 Resistor 6800 Ω Resistors
P13 Socket, line 110V Socket 2-wire Sockets -Terminal Strips
P27 Spaghetti 6” length Wire & Cable
PR10 Coil, RF Antenna, Police Band Coils-Choke-Transformer
PR11 Coil, RF Oscillator, Police Band Coils-Choke-Transformer
PS13 Resistor 9 Ω Resistors
PS14 Resistor 1566 Ω precision Resistors
PS15 Resistor 500,000 Ω precision Resistors
PS16 Resistor 500 - 600 Ω 20 W Resistors
PS17 Potentiometer 100,000 Ω Controls - Switches
PS18 Switch, Rotary SPDT Controls - Switches
PS19 Transformer, Filament 2.5 V 5 A Coils-Choke-Transformer
RF17 Braid Length wire braid Wire & Cable
S10 Resistor 5,000 Ω Resistors
S11 Resistor 150,000 Ω Resistors
S15 Potentiometer - Dual 4 Meg / 4 Meg Ω Controls - Switches
S16 Spaghetti 8” length Wire & Cable
S22 Nut 6-32 14” nut (for switch) Hardware
S31 Capacitor 200 µµf Condensers
S32 Terminal Strip 2-lug terminal strip Sockets -Terminal Strips
S34 Switch, Rotary 2 pole 3 pos. Controls - Switches
S35 Choke Filter Coils-Choke-Transformer
S36 Cabinet S-1 Sheet Metal Parts
S37 Front Panel S-1 Sheet Metal Parts
S38 Chassis S-1 Sheet Metal Parts
S41 Capacitor 1,000 µµf Condensers
S42 Capacitor 5,000 µµf Condensers
SG10 Potentiometer 1.5 KΩ w/ SPST switch Controls - Switches
SG11 Potentiometer 10 KΩ w/ SPST switch Controls - Switches
SG12 Capacitor, Tuning 360 µµF Variable Condensers
SG13 Capacitor 0.002 µf Condensers
SG14 Capacitor, Electrolytic 1 µf 250 V Condensers
SG15 Capacitor Dual 0.1 µf bathtub Condensers
SG16 Coil Oscillator Coil Band A (G-1) (G-5) 150 - 450 KC Coils-Choke-Transformer
SG17 Coil Oscillator Coil Band B (G-1) (G-5) 450 - 1300 KC Coils-Choke-Transformer
SG18 Coil Oscillator Coil Band C (G-1) (G-5) 1.3 - 4.0 MC Coils-Choke-Transformer
SG19 Coil Oscillator Coil Band D (G-1) (G-5) 4.0 - 12 MC Coils-Choke-Transformer
SG20 Coil Oscillator Coil Band E (G-1) (G-5) 12 - 34 MC Coils-Choke-Transformer
SG21 Switch, Rotary 2 pole 5 position Controls - Switches
SG22 Bulb, pilot NE-51 Tubes - Lamps



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
SG25 Terminal Strip 3 terminal Sockets -Terminal Strips
SG26A Panel G-5 Sheet Metal Parts
SG27A Chassis G-5 Sheet Metal Parts
SG28 Sup Panel G-5 Sheet Metal Parts
SG40 Capacitor 360 µµF Variable (vernier) Condensers
SG42 Potentiometer 1500 Ω w/special switch Controls - Switches
SG43 Switch, Rotary Band Sw. 2 pole 5 position Controls - Switches
SG44 Knob Large Knobs - Terminals
SG45 Assembly, Indicator Knob vernier pointer Knobs - Terminals
SG46 Capacitor 0.001 µf Condensers
SG49 Switch, Rotary Band Sw. 5 position 2-deck Controls - Switches
SG50 Switch, Rotary Attn Sw. 1 pole 3 pos 60° index Controls - Switches
SG51 Switch, Rotary Modulation Sw 2-pos single deck Controls - Switches
SG52 Front panel SG-6 Sheet Metal Parts
SG53 Resistor 620 - 680 Ω Resistors
SG54 Resistor 390,000 Ω Resistors
SG55 Capacitor 4 - 30 µµf trimmer Condensers
SG56 Coil Oscillator Coil Band A (40-11) 40-11 Coils-Choke-Transformer
SG57 Coil Oscillator Coil Band B 40-12 Coils-Choke-Transformer
SG58 Coil Oscillator Coil Band C 40-13 Coils-Choke-Transformer
SG59 Coil Oscillator Coil Band D 40-14 Coils-Choke-Transformer
SG6 Manual SG-6 Manual Documentation
SG60 Coil Oscillator Coil Band E 40-15 Coils-Choke-Transformer
SG61 AF choke AF oscillator choke Coils-Choke-Transformer
SG62 Chassis SG-6 Sheet Metal Parts
SG63 Sub-chassis SG-6 Sheet Metal Parts
SR10 Coil, RF Antenna (SW) Coils-Choke-Transformer
SR11 Coil, RF Oscillator (SW) Coils-Choke-Transformer
SW11 Resistor 100 Ω Resistors
SW12 Resistor 1000 Ω Resistors
SW13 Resistor 22-24 KΩ Resistors
SW17 Capacitor 1000 µµf ceramic Condensers
SW18 Potentiometer 300 Ω Controls - Switches
SW24 Bracket Condenser Mounting bracket Sheet Metal Parts
SW25 Vacuum Tube 6C4 Tubes - Lamps
SW26 Tube Socket 7-pin miniature Sockets -Terminal Strips
SW34 Screw, Machine #3-48 x 1/4” Hardware
SW35 Nut, hex #3-48 Hardware
SW37 Terminal Strip 3-lug terminal strip Sockets -Terminal Strips
SW43 Mounting Wafer Can Condenser, insulated Hardware
T2 Documentation Instruction Manual T-2 Documentation
T10 Resistor 3300 Ω Resistors
T11 Resistor 470 Ω 1 Watt Resistors
T12 Capacitor 0.1 µf Paper Tubular Condensers
T13 Capacitor 0.01 Paper Tubular Condensers
T14 Capacitor Dual 0.1 MFD 400 V Bathtub Condensers
T15 Capacitor Dual 8 MFD 475 V Electrolytic Condensers



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
T16 Potentiometer 1 Meg Ω with SPST Switch Controls - Switches
T18 Speaker 4” P.M. speaker Miscellaneous
T19 Speaker grill Miscellaneous
T21 Crystal Diode Semiconductors
T22 Transformer Power Transformer (P124) Coils-Choke-Transformer
T23 Transformer, Audio Audio Output (A-80) Coils-Choke-Transformer
T24 Wire, Hookup Roll of hookup wire Wire & Cable
T25A Panel T-2 Sheet Metal Parts
T26A Chassis T-2 Sheet Metal Parts
T28 Schematic T-1 Documentation
T32 Cabinet T-2, C-2, G-5 Sheet Metal Parts
T36 Transformer Output Coils-Choke-Transformer
T37 Switch, Rotary 1 pole 6 position Controls - Switches
T38 Vacuum Tube 6SH7/6SH7GT Tubes - Lamps
T40 Capacitor Electrolytic 10 MFD 25 V Tubular Condensers
T42 Potentiometer 1 Meg Ω Audio Taper w/DPST sw. Resistors
TC1 Manual TC-1 Documentation
TC10 Rectifier Half-wave instrument type Miscellaneous
TC11 Potentiometer 200 Ω Resistors
TC12 Switch, Rotary Single pole 14 position Controls - Switches
TC13 Switch, Rotary 2 pole 4 position Controls - Switches
TC14 Switch, Slide DPDT Spring Return Controls - Switches
TC15 Tube Socket 7-prong miniature 78-7P Sockets -Terminal Strips
TC16 Tube Socket 7-prong 78-7CD Sockets -Terminal Strips
TC17 Tube Socket Loctal Socket 78-8L Sockets -Terminal Strips
TC18 Tube Socket 6-prong 78-S6 Sockets -Terminal Strips
TC19 Tube Socket 5-prong 78-S5 Sockets -Terminal Strips
TC20 Tube Socket Hytron 5-prong 78-6H Sockets -Terminal Strips
TC21 Tube Socket 9-prong miniature 78-9P
TC22 Tube Socket 4-prong Sockets -Terminal Strips
TC23 Grid Clip Sockets -Terminal Strips
TC24 Knob, Large pointer Large Pointer Knobs - Terminals
TC25 Meter TC-1 (0 - 1 ma) Meters
TC26 Transformer Power P131 Coils-Choke-Transformer
TC27 Tube Socket Blank 78-B Sockets -Terminal Strips
TC28 Front Panel TC-1 Sheet Metal Parts
TC29 Resistor 2500 Ω 5 W wire wound Resistors
TC32 Potentiometer 100 Ω 25 watt control Resistors
TC33 Switch, Lever 1 pole 3 position Controls - Switches
TC34 Knob Fits lever switches Knobs - Terminals
TC35 Wire, Hookup 1 roll - 35 ft. Wire & Cable
TC36 Cabinet TC-1 Sheet Metal Parts
TC37 Bracket Roll Chart Sheet Metal Parts
TC39 Washer Brass #10 7/16 OD Hardware
TC40 Pin Drive Gear Hardware
TC43 Gear Large G-140 Hardware
TC46 Screw, Sheet metal #6 x 5/8 sheet metal screw Hardware



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
TC49 Resistor 75kΩ 2% Precision Resistors
TC54 Ring, retainer Large Socket Hardware
TC55 Ring, retainer Miniature socket Hardware
TC56A Instructions TC-1 amended Documentation
TC57A Parts List TC-1 amended Documentation
TC58 Schematic TC-1 Documentation
TC64 Assembly Chart Roller Miscellaneous
TC65 Test lead Grid Clip - 1 ft. Wire & Cable
TC66 Grommet, Rubber 5/16 rubber grommet Miscellaneous
TC69 Window Chart Window Miscellaneous
TC70 Tape Window Tape, 15 inches Miscellaneous
TC71 Resistor 360 Ω Resistors
TP16 Nut #8-32 Hardware
TS29 Resistor 47 Ω Resistors
TS30 Resistor 68 Ω Resistors
TS33 Capacitor 4.7 µµf Ceermic Condensers
TS36 Capacitor 680 MMF Ceramic Condensers
TS46 Choke, RF Coils-Choke-Transformer
TS49 Spade Lug for battery Knobs - Terminals
TS50 Capacitor 35 µµf Condensers
TS55 Set Screw #8 x 1/8” set screw Hardware
TS72 Washer #6 lock washer Hardware
V4 Documentation V-4 Manual Documentation
V10 Resistor 18 MΩ 1/4 watt Resistors
V11 Resistor 200,000 Ω 1/4 watt Resistors
V12 Resistor 9 MΩ 1 W Precision Resistors
V13 Resistor 695,000Ω 1/2 W Precision Resistors
V14 Resistor 197,000Ω 1/2 W Precision Resistors
V15 Resistor 69,000Ω 1/2 W Precision Resistors
V16 Resistor 29,500Ω 1/2 W Precision Resistors
V17 Resistor 9.4Ω 1 W 5% Resistors
V18 Resistor 990Ω 1/2 W Precision Resistors
V19 Resistor 8,900Ω 1/2 W Precision Resistors
V20 Resistor 89,000Ω 1/2 W Precision Resistors
V21 Resistor 9.8 MΩ 1 W Precision Resistors
V22 Resistor 20,000Ω 10% 1/2 watt Resistors
V23 Resistor 15,000Ω 10% 1/2 watt Resistors
V24 Potentiometer 5,000 Ω slotted shaft Controls - Switches
V25 Potentiometer 5,000 Ω solid shaft Controls - Switches
V26 Capacitor 0.003 MFD Mica Condensers
V27 Capacitor, Electrolytic 12 MFD 150 V Electrolytic Condensers
V28 Switch, Rotary 5 pole 4 position (B119238) Controls - Switches
V28A Switch, Rotary selector switch, 4-pos. Controls - Switches
V29 Switch, Rotary 2 pole 5 position Controls - Switches
V30 Vacuum Tube 6X5 Tubes - Lamps
V31 Vacuum Tube 6H6 Tubes - Lamps
V32 Transformer Power Transformer (P121) Coils-Choke-Transformer



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
V33 Battery 3 volt NEDA 701 (Burgess F2BP) ? Miscellaneous
V34 Battery 1-1/2 volt flashlight cell Miscellaneous
V35 Strap Battery mounting strap Sheet Metal Parts
V36 Banana Jack Black Knobs - Terminals
V37 Banana Jack Red Knobs - Terminals
V38 Washer, fiber 5/16 fiber shoulder washer (#630) Hardware
V39 Plug, Banana Black Knobs - Terminals
V40 Plug, Banana Red Knobs - Terminals
V41 Plug, Phone 1/4” Knobs - Terminals
V42 Test Prod Red Knobs - Terminals
V43 Test Prod Black Knobs - Terminals
V44 Alligator clip Knobs - Terminals
V45 Wire, test lead Length of black test lead wire Wire & Cable
V46 Wire, test lead Length of red test lead wire Wire & Cable
V47 Wire, test lead Length shielded test lead wire Wire & Cable
V48 Knobs acorn knob Knobs - Terminals
V49 Meter 500 µA meter Miscellaneous
V49A Meter 200 µA meter Miscellaneous
V49C Meter 200 µA meter Miscellaneous
V50 Wire, hookup 10’ roll Wire & Cable
V51 Panel V-1 Sheet Metal Parts
V51A Panel V-2 Sheet Metal Parts
V51B Panel V-4 Sheet Metal Parts
V51D Panel V-4A Sheet Metal Parts
V52 Chassis V-1, V-2 Sheet Metal Parts
V52B Chassis V-4 Sheet Metal Parts
V52C Chassis V-4A Sheet Metal Parts
V53 Cabinet V-1 Sheet Metal Parts
V53A Cabinet V-2 Sheet Metal Parts
V54 Documentation Instructions & part list V-1 Documentation
V54A Documentation Instructions & part list V-2 Documentation
V56 Resistor 1 MΩ 1/4 watt Resistors
V58 Documentation Schematic V-1 Documentation
V58A Documentation Schematic V-2 Documentation
V59 Documentation Pictorial V-1 Documentation
V59A Documentation Pictorial V-2 Documentation
V61 Documentation Panel photo print V-1 Documentation
V61A Documentation Panel photo print V-2 Documentation
V62 Documentation Chassis photo print V-1 Documentation
V62A Documentation Chassis photo print V-2 Documentation
V63 Potentiometer 12,000 Ω control Controls - Switches
V64 Resistor 200,000 Ω 1% Resistors
V65 Resistor 70,000 Ω Precision Resistors
V66 Resistor 30,000 Ω Precision Resistors
V67 Resistor 9.5 Ω 1W 5% Resistors
V68 Resistor 9000 Ω Precision Resistors
V69 Resistor 90,000 Ω 1% Resistors



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
V70 Resistor 9.9 MΩ 1/2 W Precision Resistors
V71 Resistor 2 MΩ 1% Precision Resistors
V72 Resistor 7 MΩ 1% Precision Resistors
V73 Resistor 90 Ω 1% Precision Resistors
V74 Resistor 900 Ω 1% Precision Resistors
V75 Switch, Rotary custom range switch Controls - Switches
V76 Resistor 700,000 Ω Precision Resistors
V77B Banana Jack Black Knobs - Terminals
V77R Banana Jack Red Knobs - Terminals
V79 Capacitor 0.01 MFD 2,000 V paper tubular Condensers
V82 Strap Battery mounting bracket strap Sheet Metal Parts
V83 Bracket Battery Mounting Sheet Metal Parts
V84 Screw, Machine 6-32 x 1-3/4” machine screw Hardware
V86 Nut, Wing Wing Nut #6 Hardware
V87 Phone Jack (Microphone) Knobs - Terminals
V88 Phone Plug PL68  .204 dia.” Knobs - Terminals
V94 Clip, spring, battery Battery mounting clip Sheet Metal Parts
V96 Bracket, battery Battery spring bracket. Sheet Metal Parts
V97 Semiconductor Selenium rectifier Semiconductors
V98 Transformer Power Transformer Coils-Choke-Transformer
V99 Potentiometer 1 MΩ control Controls - Switches
V101 Bracket, stiffener Sheet Metal Parts
V102 Terminal Strip, Battery terminal contact strip - 2-batteries Miscellaneous
V103 Resistor 8.3 Ω precision Resistors
V108 Potentiometer 10 MΩ control Controls - Switches

Manuals Used to Make This List:Manuals Used to Make This List: Version Added:
Z-A4 Partial from Schematic V1.1
Z-C1 From Parts List V1.0
Z-C2 From Parts List V1.0
Z-FM1 From Parts List V1.1
Z-FM2 Partial from Schematic V1.1
Z-G1 Partial from Schematic V1.0
Z-G2 Partial from Schematic V1.0
Z-G5 From Parts List V1.0
Z-IB1 From Parts List V1.0
Z-IB1B From Parts List V1.0
Z-K1 From Parts List V1.0
Z-K2 From Parts List V1.0
Z-O3 From Parts List V1.0
Z-O4 From Parts List V1.0
Z-O5 From Parts List V1.0
Z-O6 From Parts List V1.0
Z-PS1 Partial from Schematic V1.0
Z-S2 Partial from Schematic V1.0
Z-SG6 From Parts List V1.0
Z-T2 From Parts List V1.0



Version 1.1 - 7/24/2020 af6c (at) w6ze (dot) orgaf6c (at) w6ze (dot) org
Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)Heathkit Old Part #s (Pre 1951)

Part # Type Value Notes Category
Z-TC-2 From Parts List V1.1
Z-V1 From Parts List V1.0
Z-V2 From Parts List V1.0
Z-V4 From Parts List V1.0
Z-V4A From Parts List V1.0

If you have any pre-early 1952 manuals that use the old part numbers and would like to contribute to the parts 
list please send a copy of the Parts List and Schematic pages (or a copy of the manual). Also, if possible 
include the manual date (Often found on the back cover or on some of the drawings and schematics.); I’m 
trying to determine when Heathkit switched over to the later parts numbering system (It was sometime after 
Jan 15, 1950). The latest revision of this list can be found at:

 http://www.w6ze.org/Heathkit/Heathkit_Index.html. 
My contact information is available at that link.

If you have any pre-early 1952 manuals that use the old part numbers and would like to contribute to the parts 
list please send a copy of the Parts List and Schematic pages (or a copy of the manual). Also, if possible 
include the manual date (Often found on the back cover or on some of the drawings and schematics.); I’m 
trying to determine when Heathkit switched over to the later parts numbering system (It was sometime after 
Jan 15, 1950). The latest revision of this list can be found at:

 http://www.w6ze.org/Heathkit/Heathkit_Index.html. 
My contact information is available at that link.

If you have any pre-early 1952 manuals that use the old part numbers and would like to contribute to the parts 
list please send a copy of the Parts List and Schematic pages (or a copy of the manual). Also, if possible 
include the manual date (Often found on the back cover or on some of the drawings and schematics.); I’m 
trying to determine when Heathkit switched over to the later parts numbering system (It was sometime after 
Jan 15, 1950). The latest revision of this list can be found at:

 http://www.w6ze.org/Heathkit/Heathkit_Index.html. 
My contact information is available at that link.

If you have any pre-early 1952 manuals that use the old part numbers and would like to contribute to the parts 
list please send a copy of the Parts List and Schematic pages (or a copy of the manual). Also, if possible 
include the manual date (Often found on the back cover or on some of the drawings and schematics.); I’m 
trying to determine when Heathkit switched over to the later parts numbering system (It was sometime after 
Jan 15, 1950). The latest revision of this list can be found at:

 http://www.w6ze.org/Heathkit/Heathkit_Index.html. 
My contact information is available at that link.

If you have any pre-early 1952 manuals that use the old part numbers and would like to contribute to the parts 
list please send a copy of the Parts List and Schematic pages (or a copy of the manual). Also, if possible 
include the manual date (Often found on the back cover or on some of the drawings and schematics.); I’m 
trying to determine when Heathkit switched over to the later parts numbering system (It was sometime after 
Jan 15, 1950). The latest revision of this list can be found at:

 http://www.w6ze.org/Heathkit/Heathkit_Index.html. 
My contact information is available at that link.


